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This ETC/ACC Technical Paper has not been subjected to European 
Environment Agency (EEA) member state review. It does not represent the 
formal views of the EEA. 
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a) Data Gaps  
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b) Data spikes or dips  
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Gap-filling procedures to be used in 2004 
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Gap-filling routine: main air pollutants (CO, NH3, NMVOC, NOx, PM10 and SO2) 
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Gap-filling routine: greenhouse gases (CO2, CH4, N2O, HFCs, PFCs and SF6) 
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“The EC GHG inventory is compiled by using the inventory submissions of the 15 Member States. For data 
gaps in Member States’ inventory submissions (CRF summary table 1.A or sectoral emission tables), the 
following procedure is applied by EEA ETC/ACC in accordance with the implementing provisions under 
Council Decision 280/2004/EC for missing emission data: 
 

1. If a consistent time series of reported estimates for the relevant source category is available from the 
Member State for previous years that has not been subject to adjustments under Article 5.2 of the 
Kyoto Protocol, extrapolation of this time series is used to obtain the emission estimate. If CO2 
emissions from energy sector are concerned, extrapolation of emissions should be based on 
percentage change of Eurostat CO2 emission estimates if appropriate. 

 
2. If the estimate for the relevant source category was subject to adjustments under Article 5.2 of the 

Kyoto Protocol in previous years and the Member State has not submitted a revised estimate, the 
basic adjustment method used by the expert re-view team as provided in the Technical guidance on 
methodologies for adjustments under Article 5.2 of the Kyoto Protocol3  is used without application 
of the conservativeness factor. 

 
3. If a consistent time series of reported estimates for the relevant source category is not available and if 

the source category has not been subject to adjustments under Article 5.2 of the Kyoto Protocol, the 
estimation should be based on the methodological guidance provided in the Technical guidance on 
methodologies for adjustments under Article 5.2 of the Kyoto Protocol3 without application of the 
conservativeness factor.” 
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Colour key 
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Unallocated emissions 
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ETC-ACC gap-filled air emissions spreadsheet 2004 
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Timetable 2004 
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